
SAMPLE QUESTIONS BASED ON REVISED PATTERN OF CS(P) 

EXAMINATION EFFECTIVE FROM 2011 

 

The syllabus and pattern of Civil Services (Preliminary) Examination (CS(P)) has 

undergone significant changes with effect from 2011. These changes have already been 

intimated to the public vide Press Note on 22nd October, 2010, which is available on UPSC 

website. 

 

The Commission had also indicated in the Press Note that a set of sample questions for 

both the papers would be put up on the UPSC website, in due course, for reference of the 

prospective candidates.  

 

A set of 14 sample questions for Paper-I and Paper-II of the Civil Services (Preliminary) 

Examination, on the revised syllabus and pattern, are given below. These questions are 

indicative of the type of questions that may be constructed and used by UPSC in Paper-I 

and Paper II  of CS (P) examination, 2011. However, neither the content nor the 

structure/type of questions may be construed as being exhaustive or limiting the freedom of 

UPSC to set questions based on the syllabus prescribed for the examination. 

 

It may be noted that as per the existing practice, both the question papers would be 

bilingual (English and Hindi), except for some questions specifically intended to test 

English Language Comprehension skills, which would be in English only. 

 

Hindi version of the sample questions is given after the English version except for the 

sample question specifically intended to test English Language Comprehension skills, 

which is in English only. 

 

*** 

 
 

 



CS (P) Examination 
SAMPLE QUESTIONS 

(Based on revised syllabi & pattern effective from CS (P) Examination, 2011) 
 

PAPER-I 
 
1.     With reference to Simon Commission’s recommendations, which one of 
the following statements is correct? 
 

(a) It recommended the replacement of diarchy with responsible 
government in the provinces. 

(b) It proposed the setting up of inter-provincial council under the Home 
Department. 

(c) It suggested the abolition of bicameral legislature at the Centre 
(d) It recommended the creation of Indian Police Service with a 

provision for increased pay and allowances for British recruits as 
compared to Indian recruits.      

 
 
  2.     A geographic area with an altitude of 400 metres has following 
characteristics: 

 
Month J F M A M J J A S O N D 

Average maximum 
temp. 0C 31 31 31 31 30 30 29 28 29 29 30 31 

Average minimum 
temp. 0C 

21 21 21 21 21 21 20 20 20 20 20 20 

Rainfall (mm) 51 85 188 158 139 121 134 168 185 221 198 86 

 
If this geographic area were to have a natural forest, which one of the 
following would it most likely be? 
 

(a) Moist temperate coniferous forest 
(b) Montane subtropical  forest 
(c) Temperate forest 
(d) Tropical rain forest      
                                                           



3. Other than Jatropha curcas, why is Pongamia pinnata also considered a 
good option for the production of bio-diesel in India? 

 
1. Pongamia pinnata grows naturally in most of the arid regions of India. 
2. The seeds of Pongamia pinnata are rich in lipid content of which 

nearly half of oleic acid. 
 

Which of the statements given above is/are correct? 
 

(a) 1 only 
(b) 2 only 
(c) Both 1 and 2 
(d) Neither 1 nor 2 

 
 
4.  If a potato is placed on a pure paper plate which is white and unprinted and 

put in a microwave oven, the potato heats up but the paper plate does not. 
This is because: 
 
(a) Potato is mainly made up of starch whereas paper is mainly made up 

of cellulose 
(b) Potato transmits microwaves whereas paper reflects microwaves 
(c) Potato contains water whereas paper does not contain water 
(d) Potato is a fresh organic material whereas paper is a dead organic 

material 
 
 5.  With reference to India, consider the following: 

 

1. Nationalization of Banks 
2. Formation of Regional Rural Banks 
3. Adoption of villages by Bank Branches 

Which of the above can be considered as steps taken to achieve the 
‘financial inclusion” in India? 

 
(a)   1 and 2 only 

(b)   2 and 3 only      

(c)   3 only 

(d)   1, 2 and 3 

 



6. Consider the following actions by the Government: 
 
1. Cutting the tax rates 
2. Increasing the government spending 
3. Abolishing the subsidies 

 
In the context of economic recession, which of the above actions can be 
considered a part of the “ fiscal stimulus” package? 

 
(a)    1 and 2 only 
(b)    2 only 
(c)    1 and 3 only      
(d)    1, 2 and 3 

 
7. Excessive release of the pollutant carbon monoxide (CO) into the air 

may produce a condition in which oxygen supply in the human body 
decreases. What causes this condition? 

 
(a) When inhaled in to the human body, CO is converted into CO2 
(b) The inhaled CO has much higher affinity for haemoglobin as 

compared to  oxygen 
(c) The inhaled CO destroys the chemical structure of haemoglobin  
(d) The inhaled CO adversely affects the respiratory centre in the brain 

 
 

8. What are the possible limitations of India in mitigating the global 
warming at present and in the immediate future? 

1. Appropriate alternate technologies are not sufficiently available. 
2. India cannot invest huge funds in research and development. 

3. Many developed countries have already set up their polluting 
industries in India. 

 
Which of the statement given above is/are correct? 

(a) 1 and 2 only 
(b)  2 only 
(c) 1 and 3 only 
(d) 1, 2 and 3 

 
9. With reference to the Constitution of India, consider the following: 



1. Fundamental Rights 
2. Fundamental Duties 
3. Directive principles of State Policy  

 
Which of the above provisions of the Constitution of India is/are fulfilled 
by the National Social Assistance Programme launched by the Government 
of India? 
 

(a) 1 only 
(b)  3 only 
(c) 1 and 3 only 
(d) 1, 2 and 3 

 
10. With reference to Lok Adalats, which of the following statements is 

correct? 
 

(a) Lok Adalata have the jurisdiction to settle the matters at pre-
litigative stage and not those matters pending before any court 

(b) Lok Adalats can deal with matters which are civil and not criminal 
in nature 

(c) Every Lok Adalat consists of either serving or retired judicial  
officers only and not any other person 

(d) None of the statements  given above is correct  

 
11. Which one of the following statements is an appropriate description of 

deflation? 
 

(a) It is  a sudden  fall in the value of a currency against other 
currencies 

(b) It is a persistent recession in both the financial and real sectors of 
economy  

(c) It is a persistent  fall in the general price level of goods  and services  
(d) It is a fall in the rate of inflation  over a period of time 

 



PAPER-II 

        

Read the following passage and answer the given questions. Your 
answers should be drawn from the content of given passage only. 

The economy of contemporary India is a great paradox.  It is a strange 
combination of outstanding achievements as well as grave failures.  Since 
independence, India has achieved remarkable progress in overcoming its 
economic backwardness.  From being a very poor country in the 1950s and a 
‘basket case’ in the mid 1960s, it has emerged as the fourth largest economy 
in the world (in terms of purchasing power parity).  Our economy has become 
one of the fastest growing economies in the world.  Now the country is one of 
the leading players in the world knowledge economy with vast intellectual 
capital and booming software and information technology services.   While 
our country has joined the league of the world’s top five fastest growing 
economies, we are in the bottom 20 among all countries in terms of the 
Human Development Index.  While the country is celebrating its growth rate 
and technological wonders, it is witnessing social contradictions and the 
paradox and ironies of development.  Thus, there are ‘two Indias’ in 
contemporary India.    

1.  Why is the Indian economy considered ‘a great paradox’?  

(a)  It is a leading player in information technology services with low 
levels of literacy. 

(b)   There is poverty amidst plenty in agricultural produce. 

(c)   It is one of the largest economies with low human development. 
(d)   It has scientific achievements with social contradictions.     

2.  Why is India being referred to as a leading player in the world knowledge 
economy? 

1. India’s knowledge base in science and technology is one of the 
world’s best. 

2. India has huge reserves of human intellectual capitals and information 
technology services. 

3. India is among the World’s five fastest growing economics and 
technology reserves. 

4. India has a huge reservoir of human capital and scientific knowledge 
export potential.          



3.  What does the author imply by the phrase ‘two Indias’? 

(a) There is the India that has vast intellectual capital and the other that is 
largely illiterate. 

(b) There is the India of burgeoning growth and the India of widespread 
want and misery. 

(c) There is the India of progressive mindsets and the other who are 
socially conservative. 

(d) There is an India of outstanding achievements combined with gigantic 
failures.            

 

4.  Consider the following statement and also the conclusions. Answer the 
question that follows: 

 
Statement :  Education is in the Concurrent List.   The State 

government cannot bring reforms in education without the 
consent of Central Government. 

Conclusion I : For bringing about quick reforms in education, it should  
be in the State List .    

Conclusion II:   States are not willing to bring about quick reforms in  
 Education. 

 
      Which one of the following is correct? 
 

(a) Conclusion –I only follows from the statement. 
(b) Conclusion –II only follows from the statement. 
(c) Both conclusions I & II follow from the statement 
(d) Neither conclusion I nor conclusion II follow from the statement 

        
5.   Five persons P, Q, R, S, T are sitting in a row. Q is between P and T. To 

find who among them is in the middle, which of the information given in 
the following statements is/are sufficient? 

      1. P is left of Q and right of S. 
      2. R is at the right end. 

Select the correct answer using the code given below: 

(a) 1 only 
(b) 2 only 
(c) Either 1 or 2 



(d) Both  1 and 2 

6.  Which one among 2 , 3 3 , 6 6 , 12 12   is the smallest one? 

 (a) 2  

 (b) 3 3  

 (c) 6 6  

 (d) 12 12  

7.     The following pie charts show that a man spends 10% on clothes, 20% 
on rent,  30% on food and rest on miscellaneous items in the month of January 
and spends 15% on clothes, 25% on rent, 35% on food and rest on 
miscellaneous items in the month of February. 
 
 
       
 
 
 
 
 
 
 
 
 
Consider the following statements: 

1.    The money spent on food over rent in the month of January is same 
as the money spent on food over rent in the month of February. 

2. The money spent on rent over clothes is same as money spent on 
food over rent in the month of January. 

 
 
Which of the statements given above is/are correct? 
 

(a) 1 only 
(b) 2 only 
(c) Both 1 and 2 
(d) Neither 1 nor 2         

 
 

January February 

Cloths Rent Food Miscellaneous 



 
 
Note: The following question would be in English Language only to test 

English Language Comprehension. 
 
8. Whenever I had occasion to indulge in these surreptitious feasts, dinner at 

home was out of question.  My mother would naturally ask me to come 
and take my food and want to know the reason why I did not wish to eat.  I 
would say to her, ‘I have no appetite today; there is something wrong with 
my digestion.’  It was not without compunction that I devised these 
pretexts.  I knew I was lying, and lying to my mother. l also knew that, if 
my mother and father came to know of my having become a meat-eater, 
they would be deeply shocked.  This knowledge was gnawing at my heart.    

 
Why did the author devise some pretexts not without compunction ? 

 
(a) He wanted to keep away from home some times. 
(b) Surreptitious feasts thrilled him. 
(c) Dinners outside were better than at home. 
(d) He wanted to eat meat. 

 
 

9. You have come across a case wherein an old sick lady is unable to 
submit her life certificate and claim pension to meet her treatment 
expenses. Knowing your superior’s procedural approach in handling 
issues, you… 

 
(a)    Go strictly as per the procedures  
(b)    Take initiative to help the  lady arranging  for alternative documents 

(c) Assist the lady with some money on your own but do not 
compromise on procedures. 

(d)  Avoid some procedural steps since you understand the necessity of 
the lady. 

 
 
  

10. You along with your friend were chatting in a restaurant over a cup of 
coffee. Suddenly you heard an intense sound of blast very close by. 
You… 

 



(a)   Jump on your feet and hold your friend tightly 
(b) Take your look away from the source of noise and start praying for 

the best  
(c)    Start locating the source of noise 
(d)   Start shouting for help 

 
*** 



flfoy lsok flfoy lsok flfoy lsok flfoy lsok (izk0izk0izk0izk0) ijh{kk ds o"kZ 2011 ls izHkkohijh{kk ds o"kZ 2011 ls izHkkohijh{kk ds o"kZ 2011 ls izHkkohijh{kk ds o"kZ 2011 ls izHkkoh laa’kksf/kr  laa’kksf/kr  laa’kksf/kr  laa’kksf/kr 
iSVuZ ij vk/kkfjr uewuk iSVuZ ij vk/kkfjr uewuk iSVuZ ij vk/kkfjr uewuk iSVuZ ij vk/kkfjr uewuk (lSEiylSEiylSEiylSEiy) iz’u i=iz’u i=iz’u i=iz’u i=    

 
 

flfoy lsok izkjfEHkd ijh{kk ¼fl- ls- izk-½ ds ikB~;Øe 
vkSj iSVuZ esa o"kZ 2011 ls s s s egRoiw.kZ ifjorZu fd, x, gSaA 
vke turk dks bu ifjorZuksa ds laca/k esa tkudkjh fnukad 22 
vDrwcj 2010 dk] izsl uksV ds tfj, igys gh nh tk pqdh 
gS] tks la- yks- ls- vk- dh osclkbV ij miyC/k gSA 
  

vk;ksx us izsl uksV esa bl ckr dk Hkh mYys[k fd;k Fkk 
fd nksuksa gh iz’u i=ksa ds uewuk iz’u&i=] Hkkoh mEehnokjksa ds 
lanHkZ ds fy,] ;Fkkle; la- yks- ls- vk- dh osclkbV ij 
izLrqr dj fn, tk,axsA 

 
la’kksf/kr ikB~;Øe vkSj iSVuZ ij vk/kkfjr flfoy lsok 

izkjafHkd ijh{kk ds iz’u i=&1 rFkk iz’u i=&2 ds 13 uewuk 
iz’uksa dk ,d lsV uhps fn;k x;k gSA ;s iz’u i= fl- ls- izk- 
ijh{kk  2011 ds iz’u i=&1 rFkk iz’u i=&2  esa la- yks- 
ls- vk- }kjk rS;kj fd, tkus rFkk iwNs tkus okys iz’u i=ksa ds 
Lo:i ds lwpd gSa A rFkkfi] iz’u i=ksa dh fo"k;&oLrq vFkok 
lajpuk@Lo:i dks] lokZaxiw.kZ vFkok ijh{kk ds fy, fu/kkZfjr 
ikB;Øe ij vk/kkfjr iz’u i=ksa dks rS;kj djus dh l-a yks- 
ls- vk- dh LorU=rk dks lhfer djus ds :i esa u le>k 
tk, A 

 
;g uksV dj fy;k tk, fd fo++|eku ifjikVh ds vuqlkj] nksuksa 
gh iz’u i=] fo’ks"k  :i ls vaxzsth Hkk"kk  dh cks/k{kerk 
laca/kh dkS’ky dk ijh{k.k djus ls vfHkizsr dqN iz’uksa dks 
NksM+dj] tks dsoy vaxzsth esa gksaxs] f}Hkk"kh ¼vaxzsth rFkk fgUnh½ 
gksaxsA 
 
    

*** 



flfoy lsok flfoy lsok flfoy lsok flfoy lsok (izk0izk0izk0izk0) ijh{kkijh{kkijh{kkijh{kk        

uewuk uewuk uewuk uewuk (lSEiylSEiylSEiylSEiy) iz’u i=iz’u i=iz’u i=iz’u i=    
¼o"kZ 2011 ls izHkkoh laa’kksf/kr iSVuZ ij vk/kkfjr½        

    
iz’u i= iz’u i= iz’u i= iz’u i= 1 

 
1. Lkkbeu deh’ku dh flQkfj’kksa ds lanHkZ esa fuEufyfjor esa ls dkSu 

lk ,d  dFku lgh gS ? 
 

(a) blus izkUrksa esa }S/k’kklu ds mRrjnk;h ljdkj }kjk izfrLFkkfir 
djus dh laLrqfr dh  

(b) blus x`g foHkkx ds v/khu vUrj&izkUrh; ifj"kn~ LFkkfir djus dk 
lq>ko fn;k 

(c) blus dsUnz esa f}lnuh fo/kkueaMy ds mUewyu dk lq>ko fn;k 
(d) blus Hkkjrh; iqfyl lsok] bl izko/kku ds lkFk l`ftr djus dh 

laLrqfr dh] fd fczfV’k HkrhZ dk] Hkkjrh; HkrhZ dh rqyuk esa osru 
rFkk HkRrk vf?kd gksxk 

 
 
2. ,d HkkSxksfyd {ks= dh] ftldh mWapkbZ 400 ehVj gS] fuEufyf[kr 
fo’ks"krk,Wa gSa% 
 
Ekkg J F M A M J J A S O N D 
vkSlr 
vf/kdre 
rkieku 
0C 

31 31 31 31 30 30 29 28 29 29 30 31 

vkSlr 
U;wure 
Rkieku 
0C 

21 21 21 21 21 21 20 20 20 20 20 20 

Ok"kkZ 
mm 51 85 188 158 139 121 134 168 185 221 198 86 

 
 
;fn bl HkkSxksfyd {ks= esa izkÑfrd ou fo|eku gks] rks lokZf/kd 
laHkkouk ;g gS fd ;g  
 

(a) vknzZ ’khrks".k 'kadqo`{kh ou gksxk 
(b) ioZrh; miks".k ou gksxk 
(c) 'khrks".k ou gksxk 
(d) m".kdfVca/kh; o"kkZ ou gksxk 

 
 



3. Hkkjr esa tSfod Mhty ds mRiknu ds fy, tVtVtVtVªªªksQk djdklksQk djdklksQk djdklksQk djdkl ds vykok 
ikSUxkfe;k fiukVk ikSUxkfe;k fiukVk ikSUxkfe;k fiukVk ikSUxkfe;k fiukVk dks Hkh D;ksa ,d mRre fodYi ekuk tkrk gS ?  

 
1. Hkkjr ds vf/kdka’k 'kq"d {ks++=kas esa ikSUxfe;k fiukVk ikSUxfe;k fiukVk ikSUxfe;k fiukVk ikSUxfe;k fiukVk izk—frd #i ls 
mxrk gS! 
 
2. ikSUxkfe;k fiukVkikSUxkfe;k fiukVkikSUxkfe;k fiukVkikSUxkfe;k fiukVk ds chtksa esa fyfiM va’k cgqrk;r esa gksrk gS 

ftlesa ls yxHkx vk/kk vksyhbd vEy gksrk gS A  
 

mi;ZqDr dFkuksa esa ls dkSu lk@ls lgh gS@gSa& 
 

(a) dsoy 1 
(b) dsoy  2 
(c) 1 vkSj 2 nksuksa 
(d) u rks 1  vkSj u gh 2 

 
 
4. vxj ,d vkyw dks dkxt dh lQsn fcuk Nih IysV ds mij j[kdj 

lw{e rjax vou esa j[k fn;k tk, rks vkyw xeZ gks tkrk gS ijUrq 
IysV ugha A  
;g bl dkj.k gS fd  

 
(a)  vkyw eq[;r% LVkpZ dk cuk gksrk gS tc fd dkxt eq[;r% 

lSyqykst dk cuk gksrk gS 
 
(b) vkyw esa ls lw{e rjaxsa fudy tkrh gSa tcfd dkxt lw{e rjaxksa 

dks ijkofrZZr dj nsrk gS 
 
(c)  vkyw esa ikuh gksrk gS] tcfd dkxt esa ikuh ugha gksrk 
 
(d)  vkyw ,d uotkr dkcZfud inkFkZ gS tcfd dkxt e`r dkcZfud 
inkFkZ gS 

 
 
5.  Hkkjr ds lanHkZ esa] fuEufyf[kr ij fopkj dhft, % 
 

1. cSadks dk jk"Vªh;dj.k  
 
2.   {ks=h; xzkeh.k cSadksa dk xBu  
 
3. cSad 'kk[kkvksa }kjk xkWaoksa dks viukuk  

 



mi;ZqDr esa ls fdl @ fdu dks] Hkkjr esa “ foRrh; lekos’ku” izkIr 
djus ds fy, mBk, x, dne@dneksa ds #i esa ekuk tk ldrk gS ? 

 
(a) dsoy 1 vkSj 2 
 
(b) dsoy 2 vkSj 3 
 
(c)  dsoy 3 
 
(d) 1] 2 vkSj 3 
 
 

6.  ljdkj ds fuEufyf[kr dk;ksZa ij fopkj dhft, % 
 

1. dj njksa esa dVkSrh djuk  
 
2. ljdkjh O;; dks c<+kuk  
 
3. minkuksa dks lekIr djuk 

 
vkfFkZd eanh ds lanHkZ esa] mi;qZDr dk;ksZa esa ls dkSu lk@ls “jktdks"kh; 
mn~nhiu” iSdst dk Hkkx ekuk@ekus tk ldrk@rs gS@gS A 

 
(a) dsoy 1 vkSj 2  
 
(b) dsoy 2 
 
(c) dsoy 1 vkSj 3 
 
(d) 1] 2 vkSj 3 

 
7. ok;q esa iznw"kd dkcZu eksuksDlkbM ¼CO½ ds vR;f/kd ek=k esa 
ekspu ls euq"; ds 'kjhj esa vkWDlhtu vkiwfrZ esa deh ykus okyh 
voLFkk mRiUu gks ldrh gSA ;g voLFkk fdl dkj.k mRiUu gksrh 
gS\ 

 
¼a½ var’oZlu esa yh xbZ CO, 'kjhj esa igqapus ij CO2 esa :ikarfjr 

gks tkrh gS  

¼b½ var’oZlu esa yh xbZ CO dh] vkWDlhtu dh rqyuk esa] 
gheksXyksfcu ds izfr dgha vf/kd ca/kqrk gS 

¼c½ var’oZlu esa yh xbZ CO, gheksXyksfcu dh jklk;fud lajpuk 
dks u"V dj nsrh gS 



¼da½ varZ’olu esa yh xbZ CO, efLr"d ds 'olu dsUnz ij izfrdwy 
izHkko Mkyrh gS  

 
8- orZeku esa vkSj vklUu Hkfo"; esa oSf’od rkiu ds iz’keu esa Hkkjr 

dh laHkkfor :i ls D;k lhek,a gS\  
 

1- mfpr oSdfYid izkS|ksfxfd;ka i;kZIr :Ik ls miyC/k ugha gS A 
2- Hkkjr vuqla/kku vkSj fodkl esa fo’kky /kujkf’k dk fuos’k ugha 

dj ldrkA 
3- vusd fodflr ns’kksa us Hkkjr esa] igys gh]  iznw"k.k QSykus okys 

vius m|ksx LFkkfir dj j[ks gSaSA 
 

mi;qZDr esa ls dkSu lk@ls dFku lgh gS@gSa\ 
 

¼a½ dsoy 1 vkSj 2 

¼b½ dsoy 2 

¼c½  dsoy 1 vkSj 3 

¼da½ dsoy 1] 2 vkSj 3 
 

9- Hkkjr ds lafo/kku ds lanHkZ esa] fuEufyf[kr dFkuksa ij fopkj dhft,%  
1- ewy vf/kdkj 
2- ewy dÙkZO; 
3- jkT; dh uhfr ds funs’kd rÙo 

Hkkjr ljdkj }kjk vkjaHk fd, x, jk"Vªh; lkekftd lgk;rk 
dk;ZØe esa] Hkkjr ds lafo/kku ds mi;qZDr mica/kksa esa ls dkSu lk@ls 
iwjs gksrk gS @gksrs gSa\ 

 
¼a½ dsoy 1  

¼b½ dsoy 3 

¼c½  dsoy 1 vkSj 3 

¼da½ dsoy 1] 2 vkSj 3 
 

10- yksd vnkyrksa ds lanHkZ esa] fuEufyf[kr dFkuksa esa ls dkSu lk ,d  
    lgh gS\ 

   
¼a½ yksd vnkyrksa dh vf/kdkfjrk eqdnek nk;j djus ls igys ds 

ekeyksa dk fuiVkjk djus dh gS] vSkj mu ekeyksa dh ugha] 
tks fdlh U;k;ky; esa yafcr gksa 

¼b½ yksd vnkyrsa ,sls ekeyksa dk fuiVkjk dj ldrh gS tks 
flfoy] u fd vkijkf/kd izÑfr ds gSa 



¼c½ izR;sd yksd vnkyr esa dsoy lsokjr vFkok lsokfuo`Ùk 
U;kf;d vf/kdkjh gh fu;qDr gks ldrs gS] dksbZ vU; O;fDr 
ugha 

¼da½ mi;qZDr esa ls dksbZ lk Hkh dFku lgh ugha gS 
 

11- fuEufyf[kr esa ls dkSu lk ,d dFku voLQhfr dk mi;qDr o.kZu    
    djrk gS\ 
 

¼a½ ;g nwljh eqnzkvksa dh rqyuk esa eqnzk eku esa vpkud vkbZ 
fxjkoV gS 

¼b½ ;g vFkZO;oLFkk ds foÙkh; rFkk okLrfod {ks=ksa esa vkbZ lrr 
eanh gS 

¼c½ ;g eky rFkk lsokvksa ds lkekU; dher Lrj es vkbZ lrr 
fxjkoV gS 

¼da½ ;g eqnzkLQhfr nj esa ,d fuf’pr le; vof/k esa vkbZ 
fxjkoV gS 

 
 
 



iz’u i= 2iz’u i= 2iz’u i= 2iz’u i= 2    
 

fuEufyf[kr ifjPNsn dks if<+;s vkSj uhps fn, iz’uksa ds mRrj 
nhft, A vkids mRrj fn, x;s ifjPNsn dh varoZLrq ij gh vk/kkfjr 
gksus pkfg,A 
 

 ledkyhu Hkkjr dh vFkZO;oLFkk ,d CkM+k fojks/kkHkkl gSA og mR—
"V miyfC/k;ksa vkSj xaHkhj foQyrkvksa dk fofp= la;ksx gSA Lora=rk ds 
ckn ls Hkkjr us vius vkfFkZd fiNM+siu ls Åij mBus esa mYys[kuh; 
izxfr dh gSA og tks 1950 ds n’kd es ,d vR;ar fu?kZu ns’k Fkk vkSj 
1960 ds n’kd ds e?; es lgk;rkFkhZ ns’k Fkk] ogha vkt fo’o dh 
pkSFkh lcls cM+h vFkZO;oLFkk (Ø;&’kfDr lerk ds vk/kkj ij) ds #i esa 
mHkjk gSA gekjh vFkZO;oLFkk fo’o dh lcls rsth ls laof)Zr gksus okyh 
vFkZO;oLFkkvksa es vk xbZ gSA vc ;g ns’k fo’o Kku vFkZO;oLFkk esa ,d 
vxz.kh f[kykM+h cu x;k gS]  ftlds ikl vikj ckSf)d iwath vkSj rsth 
ls c<+us okyh lkW¶Vos;j vkSj lwpuk izkS|ksfxdh lsok,a gSA ;|fi gekjk 
ns’k fo’o ds ikap lcls vf/kd rsth ls loaf/kZr gksus okyh vFkZO;oLFkkvksa 
ds lewg esa 'kkfey gks x;k gS fQj Hkh ge ekuo fodkl lwpdkad 
(áqeu MsoyiesaV baMsDl) dh –f"V ls lcls fupys 20 ns’kksa esa gSA ;|fi 
ns’k viuh lao`)h nj vkSj izkS|ksfxdh; djkekrksa dk t’u euk jgk gS] 
fQj Hkh og lkekftd fojks/kkHkklksa rFkk fodkl ds fojks/kkHkkl vkSj 
foMacukvksa ls xqtj jgk gSA bl izdkj ledkyhu Hkkjr esa ‘nks Hkkjr* 
gSaA 
 
1.  Hkkjrh; vFkZO;oLFkk dks ‘,d cM+k fojks/kkHkkl* D;ksa ekuk tkrk gSa 

 
(a) og lk{kjrk dk fuEu Lrj gksus ds ckotwn lwpuk izkS|ksfxdh 

lsokvksa esa ,d vxz.kh f[kykM+h gS  
(b) —f"k tU; mRiknu dh foiqyrk ds chp xjhch gS 
(c) ;g fuEu ekuofodkl okyh ,d lcls cM+h vFkZO;oLFkk gS 
(d) Lkkekftd fojks/kkHkklksa ds lkFk gh mldh oSKkfud miyfC/k;kWa gSa 

 
 

2.   Hkkjr dks fo’o Kku vFkZO;oLFkk esa ,d vxz.kh f[kykM+h D;ksa dgk tk 
jgk gS\ 
  

(a) foKku vkSj izkS|ksfxdh esa Hkkjr ds Kku dk vk/kkj fo’o ds 
loksZRre esa ls gS 

(b) Hkkjr ds ikl ekuo ckSf}d iawft;ksa vkSj lwpuk izkS|ksfxdh lsokvksa 
ds fo’kky HkaMkj gS  

(c) Hkkjr fo’o dh ikap lcls rsth ls laof)Zr gksus okyh 
vFkZO;oLFkkvksa rFkk izkS|ksfxd HkaMkjksa esa ls ,d gS  



(d) Hkkjr ds ikl ekuo iWawth vkSj oSKkfud Kku fu;kZr laHkkO;rk dk 
fo’kky HkaMkj gS  

 
3.  ys[kd dk ‘nks Hkkjr* ls D;k rkRi;Z gS \ 

 
(a) ,d Hkkjr gS ftlds ikl vikj ckSf}d iawth gS tcfd ,d nwljk 

gS tks eq[;r;k fuj{kj gS 
 
(b)  ,d Hkkjr gS tgka lao`f) esa mNky gS rks ogha O;kid vHkko 

vkSj foiUurk okyk Hkkjr Hkh gSA  
 

(c)  ,d izxfr’khy ekufldrk okyk Hkkjr gS rks ogha og Hkkjr Hkh 
gS tks lkekftd rkSj ij nfd;kuwlh gS 

 
(d)  ,d ,slk Hkkjr gS ftlesa fof’k"V miyfC/k;ksaa ds lkFk gh fo’kky 

foQyrk,a gSa  
 

 
4. fuEufyf[kr dFku vkSj fu"d"kksZa ij Hkh fopkj dhft, mlds ckn tks 

iz’u gaS mldk mRrj nhft, : 
 
dFku : f’k{kk leorhZ lwph esa gS A dsUnzh; ljdkj dh lgefr ds 

fcuk jkT;   ljdkj f’k{kk esa lq/kkj ugha dj ldrh A 
 

fu"d"kZ I : f’k{kk  esa ’kh?kz lq/kkjksa dks ykus ds fy, bls jkT; lwph esa 
gksuk pkfg,A  

fu"d"kZ II : jkT; f’k{kk esa lq/kkj ugha ykuk pkgrsa gS A 
 

fuEufyf[kr esa ls dkSu lk ,d lgh gS \ 
 
  (a) dsoy fu"d"kZ I gh dFku ls fudyrk gS A 
 
  (b) dsoy  fu"d"kZ II  gh  dFku ls fudyrk gS A 
 
  (c) fu"d"kZ I vkSj fu"d"kZ II nksuksa gh dFku ls fudyrs gSa A 
 
  (d) u rks fu"d"kZ I vkSj u gh  fu"d"kZ II dFku ls fudyrs gaS A 
 
 
5.     ikap O;fDr  P, Q, R, S, T ,d iafDr esa cSBs gq, gSa A P  vkSj T  ds 

chp esa Q gSaA bues ls dkSu chp esa gS ;g irk yxkus ds fy, 



fuEufyf[kr dFkuks esa ls fdlesa nh x;h lwpuk@lwpuk,a Ik;kZIr 
gksxh@gksaxh\ 

 
1.   P, Q ds ck;sa vkSj  S ds nkfgusa Nksj ij gSa A 
  
2.        R vfUre nkfgusa Nksj ij gSa A  
  

 dwV dk iz;ksx dj lgh mRrj pqfu, : 
 

(a) dsoy 1 
(b) dsoy 2 
(c) ;k rks 1, ;k 2 
(d) 1 vkSj 2 nksuksa gh 

 
 
 
 
6. √2, 3√3, 6√6, 12√12, esa  ls lcls  NksVk dkSu gS ? 

 
(a)  √2 
(b) 3√3 
(c) 6√6 
(d) 12√12 

 
 
 
 
7.  fuEufyf[kr ikbZ pkVksZ ls irk yxrk gS fd ,d euq"; diMksa 

(Cloths) ij 10%, fdjk;s (Rent) ij 20%, Hkkstu (Food) ij 30% 
vkSj ’ks"k  QqVdj enksa (Miscellaneous) esa tuojh  eghusa esa rFkk 
diMksasa ij 15%, fdjk;s ij 25%,  Hkkstu ij 35% vkSj ’ks"k  
QqVdj enksa esa Qjojh eghusa esa [kpZ djrk gS A 
 
 
 
 
 
 
 
 
 
 
 
 

QjojQjojQjojQjoj
hhhh    

tuojhtuojhtuojhtuojh

diMs+diMs+diMs+diMs+ fdjk;kfdjk;kfdjk;kfdjk;k [kkuk[kkuk[kkuk[kkuk    QqVdj ensaQqVdj ensaQqVdj ensaQqVdj ensa



 
 

fuEufyf[kr dFkuksa ij fopkj dhft, :  
 
1. tuojh eghusa esa fdjk;s ls vf/kd Hkkstu ij O;; ogh gS tks 

Qjojh eghusa esa fdjk;s ls vf/kd Hkkstu ij O;; gSA 
2.  tuojh eghusa esa diMksa ls vf/kd fdjk;s ij fd;k x;k O;; ogh 

gS tks fdjk;s ls vf/kd Hkkstu ij fd;k x;k O;; gS A 
 
fuEufyf[kr dFkuksa esa ls dkSu lk ,d lgh gS  
 
(a)  dsoy 1 
(b)  dsoy 2 
(c)  1 vkSj 2 nksuks gh 
(d)  u rks 1 vkSj u gh 2  

 
 
 
9- vkids lkeus ,d ,slk ekeyk vk;k gS ftlesa dksbZ o`) chekj L=h 

viuk thou izek.ki= izLrqr djus esa vleFkZ gS vkSj bl otg ls 
vius mipkj ds [kpksZa dks iwjk djus gsrq isa’ku dk nkok djus esa 
vleFkZ gSA vki ekeyksa ij dkjZokbZ djus ds ckjs esa vius 
mPpkf/kdkfj;ksa ds dk;Zfof/kd mikxe dks tkurs gq,-------- 

  
¼a½ dk;Zfof/k;ksa ds vuqlkj gh pysaxsa  

¼b½ oSdfYid nLrkostksa dk bartke dj] ml L=h dh enn djus dh 
igy djsaxas 

¼c½ vius Lo;a ds Lrj ij ml L=h dh dqN /ku }kjk lgk;rk 
djsaxsa fdarq dk;Zfof/k ls dksbZ le>kSrk ugha djsaxsa 

¼d½ dqN dk;Zfof/kd pj.kksa dks utjvankT+k dj nsaxsa] D;ksafd vki ml 
L=h dh vko’;drk dks le>rs gSa 

 
10- vki jsLrjka esa dWkQh ihrs gq, vius fe= ds lkFk xi&’ki dj jgs  

Fks A vpkud vkius dgha cgqr ikl gh foLQksV dh izpaM vkokt 
lquh A vki----- 

 
¼a½ mNy iM+sxsa vkSj vius fe= dks dl dj idM+ ysaxsa 

¼b½ vkokt dh rjQ ls viuk /;ku caVkdj lc dqN cgqr vPNk 
gks] blds fy, nqvk djsaxsa 

¼c½ vkokt dgka ls vkbZ bldk irk yxkuk ’kq: djsaxsa 

¼da½ enn ds fy, fpYykuk ’kq: djsaxsa 
*** 


